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WORKSHEET 4
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Problem 1: Limit for Two Variable Function
Determine if the following functions have a limit as (z,y) approaches (0,0):
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Problem 2 : Tangent Plane/Linear Approximation t 5
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For following surfaces: -

1) compute the partial derivatives;

2) write up the differential df;

3) find out the tangent plane at the given point;

4) what is the linear approximation at the given point;
4) what is the normal vector of the plane you find out.
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Problem 3: Chain Bule
Firstly use chain rule to compute 3’%, and then evaiuate - ab given point:

1. flx,y) = 2% + 2%y ;x(t)=t2+t?y(t)me;fx0;
2. flz,y) = 22+ % 2(t) = cost, y(t) = 2sint; t = 45

3. flz,y,2) = ayz 2(t) =Int, y(t) = €', 2(t) = 15 t = 2;
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